Baryons decay produces another baryon.

The only stable baryon is Proton.

Baryons are made up of 3 quarks combination.

Baryons are divided into nucleons and hyperons. Hyperons are heavier than nucleons.

Table of nucleons Table of some hyperons:
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b) Mesons:

In Greek, “meson” stands for intermediate & so particles which have intermediate masses are named as
Mesons. The mesons are bosons.
Mesons can decay without necessarily producing other hadrons. Mesons are made up of a quark and
antiquark.
Table of some mesons

Symbol Particle Quark
Combination
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Generation of elementary particles:
The generation is a division (classification) of elementary particles on the basis of their mass. There are three
generations of elementary particles.
Each member of higher generation has higher mass than the corresponding particles of previous generation.
Hence, being massive, the particles of higher generations ultimately decay into first generation particles.
Everyday matter is made of particles from first generation.
Higher generation particles are seen in extremely high energy environments (like cosmic rays).
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